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QUESTION 1

Which feature of VMware vSphere enables configuration of startup and shutdown order for a multi-tiered application? 

A. vApp 

B. vSphere template 

C. DRS Group 

D. DRS Cluster 

Correct Answer: A 

 

QUESTION 2

Which component in VMware NSX provides L2 bridging from the logical networking space VXLAN to the physical
space? 

A. NSX virtual switch 

B. Logical Router control VM 

C. Logical router 

D. NSX Edge virtual appliance 

Correct Answer: C 

The logical routers can provide L2 bridging from the logical networking space (VXLAN) to the physical network (VLAN).
Reference: https://docs.vmware.com/en/VMware-NSX-for-vSphere/6.3/nsx_63_admin.pdf 

 

QUESTION 3

Which server sits in the DMZ and allows external devices to connect to the Horizon Mirage service? 

A. Mirage Server 

B. Mirage Branch Reflector 

C. Mirage Management Server 

D. Mirage Gateway Server 

Correct Answer: D 

Reference: https://blogs.vmware.com/consulting/tag/horizon-mirage 

 

QUESTION 4
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Which two benefits are delivered through VMware Software Defined Data Center (SDDC)? (Choose two.) 

A. Complex architecture 

B. IT driven policies 

C. Comprehensive management 

D. Flexible cloud delivery 

E. Increased administrative cost 

Correct Answer: BC 

Reference: https://www.vmware.com/solutions/software-defined-datacenter.html 

 

QUESTION 5

A customer would like to implement a holistic monitoring solution in its environment. What VMware product would meet
this particular requirement? 

A. VMware vRealize Operations Manager 

B. VMware vRealize Network Insight 

C. VMware vRealize Log Insight 

D. VMware vRealize Automation 

Correct Answer: A 
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